	sSBOes8
	Operate with different value then the SelectWithValue of a SBOes control object
	|_| Passed
|_| Failed
|_| Inconclusive

	IEC 61850-7-2 Table 54
IEC 61850-8-1 Subclause 20.6, 20.7 and 20.8

	Expected result
1.	DUT responds with SelectWithValue response+
2.	DUT responds with Operate response- with AddCause “Inconsistent-parameters”, or only when Operate.test=T with 
	AddCause either “Blocked-by-mode" or “Inconsistent-parameters”
3.	The control object will return to the unselected state: stSeld=F or SelectWithValue response+ or Operate 	response‐ with 	AddCause “Object‐not‐selected”  

	Test description
1. Client sends correct SelectWithValue request of an unselected SBOes object with it’s logical node Beh=on
2. Client sends Operate request of the selected object changing one of the following attributes to another value than the 	SelectWithValue: ctlVal, origin, ctlNum, test and Check 
3. Wait until control object returns to the “unselected state”, client requests either GetDataValues(stSeld) or SelectWithValue or	 	Operate
4. Repeat step 1-3 for the other attributes in step 2 
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